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EhERIE FE(A) RE(B) Z=2(A)—(B) =

F RN EREREERA 419,924,000 | 423,920,894 | A 3,996,894

% A lzsrssmamA 100,000 108,000 A\ 8,000

; SEA) B R Y S UNA 973,000 1,383,925 A 410,925

- Z DDIRA 880,000 1,194,357 A\ 314,357

£ FEEENAFH) 421,877,000 | 426,607,176 | A 4,730,176

| X (AEXH 293,427,000 | 305,716,856 | A 12,289,856

B\ e 60,949,000 | 55,347,614 5,601,386

* EBERH 20,771,000 | 16,633,108 4,137,892

FETENI HEH(2) 375,147,000 | 377,697,578 | A 2,550,578

FEFHESIEEEB)=(1) - (2) 46,730,000 48,909,598 | A 2,179,598

Y |MERE SRR IA 0 1,327,784 | A 1,327,784

E% A |FERREEGH LSRG (4) 0 1,327,784 | A 1,327,784

; X |EEEERSXH 10,000,000 8,668,560 1,331,440

i | Y [Fomommsms £z xm 0 9,370 A 9,370
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% Mok E R HEH(5) 10,000,000 8,677,930 1,322,070

HEEREE ST Z%(6)=(4) — (5) /A 10,000,000f A 7,350,146 A 2,649,854

N |RHE AR ERA 50,000 124,789 A\ 74,789

T A |20t EBIRAGHT) 50,000 124,789 A 74,789

;; X [RHREMEIH 0 151,200 A 151,200

. e e 72,576,000 | 72,643,292 A 67,292
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a Z DD IEE) X HEH(8) 72,576,000 | 72,794,492 A\ 218,492

Z D0 EBEEINEZEFE(9)=(7) - (8) /\ 72,526,000 A 72,669,703 143,703

FiwE X H(10) 0 0 0

LHESINT EEA(11)=03)+(6)+(9) - (10) | A 35,796,000 A 31,110,251| A 4,685,749

ARSI ESES(12) 218,121,835 | 218,121,835 0

LRI EEES(13)=(11) + (12) 182,325,835 | 187,011,584 | A 4,685,749




